Chapter 3: Diff orentiation

Solution:

$$f(x) = \left[\sqrt{x} + 1\right] \left[\frac{1}{2\sqrt{x}}\right] - \left[\sqrt{x} - 1\right] \cdot \frac{1}{2\sqrt{x}}$$

$$\left(\sqrt{x} + 1\right)^{2}$$

$$=\frac{1}{2}+\frac{1}{2\sqrt{X}}-\frac{1}{2}+\frac{1}{2\sqrt{X}}$$

$$=\frac{1}{\sqrt{x}}$$

$$(\sqrt{x+1})^2 = \sqrt{x} \left[\sqrt{x} + 1\right]^2$$

$$f(x) = \left(\frac{1}{x} - x\right)(x^2 + 1)$$

$$f(x) = x + \frac{1}{x} - x^3 - x$$

$$f(x) = \frac{1}{x} - x^3$$

$$\bar{f}(x) = -\frac{1}{x^2} - 3x^2$$

$$8(x) = \sec(2x+1) \cdot -(\csc^2x^2) \cdot 2x + \cot^2x^2 \cdot (\sec(2x+1)) + \cos^2x^2$$

$$= \left[\sec(2x+1)\right] - 2x \cdot \csc^2x^2 + 2 \cdot \cot^2x^2 \cdot (\sec(2x+1)) + \cos^2x^2$$

$$= \left[\sec(2x+1)\right] - 2x \cdot \csc^2x^2 + 2 \cdot \cot^2x^2 \cdot (\cot^2x^2) + \cot^2x^2$$

$$= \cos^2x \cdot \cot^2x \cdot \cot^2x \cdot \cot^2x \cdot \cot^2x^2$$

$$= \csc^2x \cdot \cot^2x \cdot$$

Solution:

$$2 \sin x \cos x = \sin 2x$$

$$f(x) = \frac{1}{2}x^{3} \sin 2x$$

$$f(x) = \frac{1}{2} \left[x^{3} \cos 2x \cdot 2 + \sin 2x \cdot 3x^{2} \right]$$

$$f(x) = \frac{1}{2} \left[x^{3} \cos 2x + \frac{3}{2}x^{2} \sin 2x \right]$$

Solution
$$\frac{1}{2}$$
 = $\frac{1}{2}$ = $\frac{1}{2}$

[3]

Solution:

$$2x + 2yy = 1$$

$$\overline{y} = 1 - 2x$$

$$2y$$

colution:

$$\frac{y}{\sqrt{-\left[1-\cos x\right] \cdot \cos x} - \sin x} \cdot + \sin x}$$

$$= \cos x - \cos^2 x - \sin x}$$

$$\frac{(1-\cos x)^2}{(1-\cos x)^2}$$

$$\frac{(1-\cos x)^2}{(1-\cos x)^2}$$

$$\frac{(1-\cos x)^2}{(1-\cos x)^2}$$

STUDENTS-HUB/com2

$$= \frac{\cos x - \cos x}{(1 - \cos x)^2} = \frac{\cos x - 1}{(1 - \cos x)^2}$$
Uploaded By: 1210711@student.birzeit.ed

Uploaded By: 1210711@student.birzeit.edu

I find the points on the conve where the tangent is parallel to the x - axisSolution tanget line is horizontal 7 = m = slope = 0 $6x^2 - 6x - 12 = 0$ x - x - 2 = 0 (x+1)(x-2)=0x=-1,2 (-lif(-1)) = (-1,27) $f(-1) = 2(-1)^3 - 3(-1)^2 - 12(-1) + 20$ = -2 -3+12+20 - 27 (2, f(2)) = (2,0) $f(2) = 2.(2)^3 - 3(2)^2 - 12.2 + 20$ = 16-12-24+20

For what values of the constant on if any, is
$$f(x) = \begin{bmatrix} \sin 2x & x \leq 0 \\ 0x & x \geq 0 \end{bmatrix}$$
Continuous of $x = 0$?

Solution

Continuous at
$$x = 0$$

 $\lim_{x \to 0^{+}} f(x) = \lim_{x \to 0^{+}} f(x)$

$$\tilde{f}(x) = \begin{cases} 2 \cos 2x, & x < 0 \\ 0, & \infty > 0 \end{cases}$$

$$\lim_{x \to 0} f(x) = \lim_{x \to 0} f(x)$$

STUDENTS-HUB.com

Find the normals to the curve are parallel to
$$\frac{1}{xy} + 2x - y = 0$$
 that are parallel to $\frac{1}{xy} + 2x - y = 0$ that are parallel to $\frac{1}{xy} + 2x + y = 0$

Solution

Normal to the curve is parallel to line.

So they have some speed is $\frac{1}{x^2}$

Slope of the line $\frac{1}{2x^2} + \frac{1}{y^2} = 0$

Also slope of the normal $\frac{1}{x^2} - \frac{1}{x^2}$

Which is $\frac{1}{x^2} = \frac{1}{x^2} = \frac{1}$

STUDENTS-HUB.com

Uploaded By: 1210711@student.birzeit.edu

$$(3-24) + 2(-3-25) - 3=0$$

$$-34-9242-6.-44-4=0$$

$$-24^{2}-84-6=0$$

$$4^{2}+44+3=0$$

$$(4+1)(4+3)=0$$

$$4=-1 \cdot 4=-3$$

$$4=-1 \cdot 4=-3$$

$$4=-1 - 2(-1)=-3+2=-1$$

$$4=-3 - 2(-1)=-3+6=3$$

$$4=-3-2(-3)=-3+6=3$$

$$4=-3$$

$$4=-3-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$4=-2(-3)=-3+6=3$$

$$f(x) = \tan x \cdot x = \frac{1}{4}$$

$$L(x) = f(a)(x-a) + f(a)$$

$$f(\underline{T}) = Ean \underline{T} = 1$$

 $f(x) = Sec^2x \circ f(\underline{T}) = Sec^2\underline{T} = 2$

$$L(x) = 2x - \frac{\pi}{2} + 1$$

$$4(z) = -\frac{\chi_5}{1}$$

$$\Gamma(x) = 1 - 1(x - 1)$$

$$L(x) = 1 - x + 1$$

$$L(x) = \lambda - \chi$$

STUDENTS-HUB.com

Uploaded By: 1210711@student.birzeit.edu

9

$$h(Y) = \frac{\chi^2}{\chi^2+1}, \quad \chi=0$$
Solution
$$h(0) = 0$$

$$h(x) = (x^2+1) \cdot 2\chi - \chi^2 \cdot 2$$

$$h(x) = (x^2+1) \cdot \lambda \chi - \chi^2 \cdot \lambda \chi$$

$$(\chi^2+1)^2$$

$$50 L(x) = 0 + 0(x-0)$$

$$L(x) = 0$$

$$f(x) = 1 + \cos \theta, \ \theta = \frac{\pi}{3}$$

Solution

$$f(x) = -\sin\theta$$

$$f\left(\frac{T}{3}\right) = -\sin \frac{T}{3} = -\frac{13}{3}$$

$$L(X) = \frac{3}{2} - \frac{13}{2} \left(x - \frac{11}{3} \right)$$

STUDENTS-HUB.com

$$L(x) = \frac{3}{2} - \frac{13}{2}x + \frac{1311}{6}$$

Uploaded By: 1210711@student.birzeit.edu

The radius of the circle is increased from 2 to 12 2.02 m

Solution: A=Tr2

OA = 2Trdr.

OA = 2Trdr.

=217.2.(0.02)

T80.0 = Ab

D. Express this estimate as a percetage of the circles original data.

$$\frac{dA}{A} = \frac{0.08}{11.4} = \frac{0.08}{4} = 0.02$$

dA is 21/1. of A